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ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ%)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B AGH IR PRawr § foET 81 9970 B AR A BN W Yo FA-gReaewt
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-1 & 997-99 & F 19 0¥ @& 9FHI & I9-T § F 44 997 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 and of Part-II are 44.

o P W F A & G F 5 59777 § GRa g 8 a9l 497 19 &)

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 questions.

208/1 P.T.0O.




(2) 208
T97-Y5 7 qlle &1 @ AT 79 T4 #S TR F GF FA-aH % FET-TS G [

The Code No. on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

208/ |
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(v) 39 79799 5 &i7 97 & - o § TT @/ T - o Fad &1 GHErRf oy FEIgErn
9T - § T 9T - T & F3 T 97T & B/

This question paper is divided into three parts : A, B & C. Part — A is
compulsory. Candidates have to attempt any one part from Part — B and
Part - C of their choice.

AT - &
PART - A
(TR HeEY Ud ESEr @)

(Not-for-Profit Organizations & Partnership Accounts)

1. 9@ 9 9 @ | F1 &H (@R s 2
() I OH R0 Tled & fw - T 34,0001
(i) &I P IAER 1-4-2016 T 3,000|
(i) WRITH P A9_R 31-3-2017 T 4,200
(iv) WU @ €H 1-4-2016 T 2,500
(v) WA & ®d 31-3-2017 T 2,800
How much amount will be shown in income and expenditure account in the
following case ?
(i) Amount paid for stationary purchased 3 34,000.
(ii) Creditors for stationary on 1-4-2016 < 3,000.
(iii) Creditors for stationary on 31-3-2017 < 4,200.
(iv) Stock of stationary on 1-4-2016 < 2,500.
(v) Stock of stationary on 31-3-2017 ¥ 2,800.

2. ‘UMY 9 FF G T AH-BM @’ H e AN Sy 2
Give any four differences between 'Income and Expenditure' and 'Profit and

Loss Account'.

3. 1-4-2018 & ®H @l TRl X 2,00,000 3R AR X 10,000 21 AEERE & Goil @it
F 9 % 1,60,000 3R T & T T 30,000 21 A AT A9 A & 15% & X A
% Ef A gt < 36,0005 3 T & AT AN G B0 T80 81 QA SN oo &l IO
| 2

208/1 P.T.0O.
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208/1
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On 1-4-2018 firm had assets of ¥ 2,00,000. Its creditors amounted to
% 10,000. The partner's capital account showed a balance of ¥ 1,60,000 while
the reserve amounted to ¥ 30,000. If the normal rate of return is 15% and
goodwill of the firm is valued at ¥ 36,000 at 3 years purchase of Super Profit.
Find the average profits of the firm.

HERR & ol @ 9 a1 @ 7 SR ARy 2

Distinguish between 'Partners Capital Account' and 'Current Accounts'.

A, B 9ERER RFE AH-fawee ofud 3 : 2 8, # Rafq faawer 7 @R R 6
TR N qRErRmEt 3
CREES 1,80,000 | 3&R  2,20,000
qH= Gy 2,50,000 | ¥+ 10,000
HHA arforgfet 1,50,000 2,10,000
GED|
It 9 wd waw 1,80,000
1,50,000 | €43 Td A 1,20,000
B 1,00,000 | €% 1,10,000
EE 2,10,000
8,30,000 8,30,000

CH EEM & 1/6 9 & fou yaar =1 sl @ fRan e

(a) S RO & AT FEEH H T 15,000 § AT Y

(b) 4 9 9@ & oI T 2,10,000 T el WA

() % & & X 25,000 ¥ ¢ T &I

(d) HHA &figid @& @R % 1,20,000 B

(e) C3M R 1,50,000 T&it &R T 1,00,000 AT & &Y & b AR B

JTEIE T SIS 9 |eeTd @1 o @ 9 Ref feer e
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Following is the Balance Sheet of A & B sharing profitsas 3 : 2 :

Liabilities 3 Assets 3
Creditors 1,80,000 | Debtors 2,20,000
General Reserve 2,50,000 | Less Provision 10,000
Workmen Compensation Reserve 1,50,000 2,10,000
Capital : Land and Building 1,80,000

1,50,000 | Plant and Machinery 1,20,000

1,00,000 | Stock 1,10,000
Bank 2,10,000
8,30,000 8,30,000

C admit for 1/6th share and it was decided that :

()
(b)
(©)
(d)

(e)

Provision for doubtful debts to be increased by ¥ 15,000.
Value of Land & Building to be increased to % 2,10,000.
Value of Stock to be increased by I 25,000.

The liability of workmen compensation claim was determined to be
% 1,20,000.

C brings T 1,50,000 as his capital and ¥ 1,00,000 as his share of

goodwill in cash.

Prepare Revaluation Account, Partner Capital Account and Balance Sheet.

YqT
OR

(A) R STIUC g Wi U | 0 e 8 ?

(B)

What is the difference between Sacrificing ratio and Gaining ratio ?

e & TR T8 H GX S P THES B9 ol 8 7

How goodwill is adjusted at the time of retirement of a partner ?

P.T.0O.
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208/ |
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(T -9
PART - B
(@ TR o R Ral & R
(Company Accounts & Analysis of Financial Statements)

A o 7 B o | % 67,50,000 ¥ T=RI &1 %3 FHaT AR 10% FO9 % 100 S Fo=
F 10% B¢ T A fpam sHa faftedr &1 2
A Ltd. purchased the assets from B Ltd. for ¥ 67,50,000 and issued 10%
debentures of ¥ 100 each at 10% discount. Pass the necessary Journal

Entries.

B fifo ¥ 12% ROl 2,000 o195 T 100 Ui 19T &l 5% SfEg qx A fear S
10% SfRM qX e fopam SiHa dfafedr &3 2

B Ltd. issued 2,000; 12% debentures of ¥ 100 each at a premium of 5%,

redeemable at 10% premium. Pass journal entry for the issue of debenture.

Ul 3SR qEieemR sl d & ofay i 2

Write two points of difference between an Equity Share and a Preference
Share.

SN & BT &I T Tfaftedt B T ik B A A () T OqF W, (i) Hfem w2

Write journal entries of Share Forfeiture when the shares have been issued

(i) at par (ii) at premium.

Sico o ¥ frm@ fio # wwf™l ¥ 4,80,000 iR M@ T 80,000 R A
yfewet % 3,20,000 81 ¥ 20,000 F AN R o I fham @1 ol A9 & G 8%
qaifeRpR 3797 3 100 Y ST B 50% Nem @ B e sfaftedt #4 2

Sico Ltd. took over the assets of ¥ 4,80,000 and liabilities of ¥ 80,000 of Mittal
Ltd. for a consideration of ¥ 3,20,000. ¥ 20,000 were paid by an acceptance in
favour of Mittal Ltd. and balance by issue of fully paid 8% preference shares of
% 100 each at a premium of 50%. Pass necessary journal entries.
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11. e e o 2
(@) ARM =T (b) ST IreT
Write short notes on the following :

(a) Calls in advances (b) Calls in arrears

12. (a) A fdo ¥ 800 &1 T 10 ¥ 8w, ¥ 7.50 Wi T, Sk UEal = T 2.50 &
WHWWWWW|ﬁﬂﬁﬁmowﬁﬁmoqﬁrwguhﬁm%gq
% 6 U e G i T R

A Ltd. forfeited 800 shares of ¥ 10 each, I 7.50 called up, for non
payment of Ist call of ¥ 2.50 per share. Out of these, 600 shares were
immediately reissued at ¥ 6 per share as % 7.50 paid up.

(b) B ffo ¥ 400 151 T 10 wfy iy o= T 8 ufy sfwr T T R T 6 Uiy SHw ;@
T oT &, ® I &< ol T B5H & 300 st #1 3 7 o ofwr (Tofeq) &

A feham T 2
et SfafeEt H

400 shares of ¥ 10 were forfeited by B Ltd. on which ¥ 8 has been called
up and I 6 has been paid. Out of these, 300 shares are reissued for I 7
as fully paid.

Pass the necessary journal entries.

AT -9
PART -C
(Felga wEi)

(Computerized Accounting)

13. TESH Safte @& 8 ? 2
What is Adjusting Entry ?

14, FYEHHT AGHT oM B & A Fan| 2

Give any two advantages of Computerized Accounting System.

208/1 P.T.0O.



15.

16.

17.

18.

19.

208/ |

TCNY Eehd 47 © ?

What is Database Interface ?

DBMS & & 35399 Fam
Give any two objects of DBMS.

2Ter ufafte @ R ?
What is Data Entry ?

Oedic 1 8 ? @ v Tasy

What is Spreadsheet ? Give its two features.

gl ¥ Pia™ sad g fedlic H @ Ufhar saEy

Explain the process of inserting and deleting a column in Worksheet.

208
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(Objective Questions)
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o U Tq F AT [ G F 3T FT-9T § JET 7% 16 TI T9T 44 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 questions.

o gheEreff 7T T To FIT-UH T 9T [rE)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.

208/ 11 P.T.0O.



(2) 208
(i) F97 FE 1 7 44 TF TGS F97 &1 JE%F JoT 1 37F F &1 FE I YA IFT-

giceEr 7 [

Questions from 1 to 44 are objective type questions. Each question is of 1
mark. Write correct answer in your answer-book.

(iii) 57 Fo7-97 H 7 97 & : &, § 7 1 GU ~ o g & gherd v sy
G - T GT - T 7 @ F5 % 977 &7 B/
This question paper is divided into three parts : A, B & C. Part — A is

compulsory. Candidates have to attempt any one part from Part — B and
Part - C of their choice.

T -
PART - A
(T HeE O wEeEr )

(Not-for-Profit Organizations & Partnership Accounts)

1. @ T FAW ael SR SR 5 1
(A) STRE G
(B) AR  WH-BI &l
(C) A 9 Y @rdr
(D) IUge gl
Not for profit organization prepare :
(A) Trading Account
(B) Trading & Profit and Loss Account
(C) Income and Expenditure Account
(D) All of the above

2. ERN 0@ & A9 H HEER $ RO T AN & 1
(A) 5% dferas (B) 6% Mfcras
(C) 7.5% Yfcras (D)  12% wicad

In the absence of Partnership deed, the interest is allowed on partner's loan
account will be :

(A) @ 5% p. a. B) @ 6% p. a.
C) @7.5% p. a. D) @ 12% p. a.

208/ 1l



3. HEER & QB -

208/ 11

(A) @iffa

(C) MeiRa fear sTem =mwE g/
Liability of Partner is :

(A) Limited

(C) Determined by Court

ST W N shise fhal SO :
(A) wH-E T |

(B) -8 FREISH @ 8§
(C) ®ERER T @ #

(D) SR | & &5 el

208

(D) HERR ARFET & & HEiRd

(B) Unlimited

(D) Determine by Partnership Act

Interest on Partner's drawings will be credited to :

(A) Profit and Loss Account

(B) Profit and Loss Appropriation Account

(C) Partner's Capital Account

(D) None of the above

A, B, C OERR @9 &l 4 : 3 : 2 ¥ Jed 2| 9" § @19 & U 4 : 3 : 1 B ;A

g T YU 1 B ?

(A) AT i,BaTPT i,csma
72 72

(B) AU i,BW i,cam
72 72

(C) AWM i,BaTPT i,CBTFH
72 72
4 3

72
7

(D) AME —, BWQ —, C & —

72° 72°

72

1

P.T.0O.
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A, B and C were partners in a firm sharing profit in 4 : 3 : 2. They decided to
share future profits in 4 : 3 : 1. Sacrificing ratio and Gaining ratio will be :

(A) A Sacrifice i, B Sacrifice 3 , C Gain 7
72 72 72
(B) A Gain -, B Gain —, C Sacrifice ——
72 72 72
(C) A Sacrifice i, B Sacrifice 4 , C Gain e
72 72 72

(D) A Gain 4 , B Gain i, C Sacrifice e
72 72 72

i ST - 1
(A) A AU — FT AT (B) I STFH — T At

(C) 4T eTgud — YT ST (D) YT STUI — 4T Srgurd

Gaining ratio :

(A) New Ratio — Sacrificing Ratio (B) Old Ratio — Sacrificing Ratio

(C) New Ratio — Old Ratio (D) Old Ratio — New Ratio

I TEERT ¥ GRadT & HROT A deerd @ 8 Rl 8 SiX AT FHET [har S
Tl 3 /A © ]
(A)  THEEHT S (B) ®EER ® JeH

(C) TERETd @ (D) ST ¥ & #g T8

Any change in the relationship of existing partners which result in the end of
existing agreement and enforces making of a new agreement is called :

(A) Revaluation of Partnership (B) Reconstruction of Partnership

(C) Realization of Partnership (D) None of the above



(5) 208

8. &9 U% A1 WEER @A Thal § A 8 o 39 hise fhar S ¢ 1
(A) I T @n
(B) ®F & a HEERI & o @ A
(C) PRW ®EERl & ol @ A
(D) W TR B T @R &
When a new partner brings goodwill in cash, it is credited to :
(A) His Capital A/c
(B) Sacrificing Partner's Capital A/c's
(C) Old Partner's Capital A/c
(D) All Partner's Capital A/c's

9. T EEN & %49 W : 1
(A) JU BH B FHIGE B S 8
(B) I EERERI & GHOE 8 S o
(C) 3N QI TR § ®H H FHGH B ST 8
(D) & HEErd ok 7 & ®H & GHe & ®
On the admission of a new partner :
(A) old firm is dissolved
(B) old partnership is dissolved
(C) both old partnership and firm are dissolved

(D) neither partnership nor firm is dissolved

10. X AR Y SN @9 & 3 : 2 AP H Sed & Z F 1/4 A & [ wEErd F s R S

HI AR H X AR Y § I I HAM T4 981 A 41 8 ? 1
(A) 9:6:5 B) 19:11:10
(C) 3:3:2 (D) 3:2:4

208/ 11 P.T.0O.
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X and Y sharing profit in 3 : 2 ratio. Z was admitted with 1/4 share in profits
which he acquires equally from X and Y. The new ratio will be :

(A) 9:6:5 B) 19:11:10
() 3:3:2 D) 3:2:4
11. IR GEER ¥ Y49 & 999 QT Sl o9 RE @ 98 hise fHar S 1
A) T TR B T ER @ e @
(B) & WEER & TN @ H, IO orgun A
(C) P TERR & $of @n #, 9U oI q
(D) PN TERR & $f @n #, @FT U |
If, at the time of admission, the revaluation A/c shows a profit, it should be
credited to :
(A) Old Partners Capital A/c in old ratio
(B) All Partners Capital A/c in new ratio
(C) Old Partners Capital A/c in new ratio
(D) Old Partners Capital A/c in sacrificing ratio
12. HEEN & g T, IEH a9 WA HiSc H S 1

208/ 1l

(A) Tf GEEr B O an A
(B) 9 gU GERRI & Yol @1 A
(C) & ISR & @A H

(D) ¥R % 9 @ |



13.

14.

208/ 11
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On the death of a partner, the amount due to him will be credited to :
(A) All partner's Capital Account

(B) Remaining Partner's Capital Account

(C) His Executor's Account

(D) Government's Revenue Account

A, B, C, TR ® o9 feoM g %:%:2—90, C & JEHE T HT W T
I B 1
(A) 6:5 B) 5:6

C) 4:3 D) 4:10

A, B and C are partners sharing profit in the ratio of % : % : 2—90 The new ratio
on C's retirement will be :

(A) 6:5 B) 5:6

C) 4:3 D) 4:10

HEER & I TE B T WEHER & TTHedich Bl A9 s 8l 1

(A) ST FET B A AEER B Ioi @ A

(B) @l HERRI & o @R A, U U §

(C) ¥ §C WERRI & Yot @wt &, [ oTgua #

(D) ¥ BT WERERI & Yot @l #, ¢ oYU §

At the time of retirement of a partner, profit on revaluation will be credited to :
(A) Capital Account of retiring partner

(B) Capital Account of all partner's in the old profit sharing ratio

(C) Capital Account of the remaining partner's in their old profit sharing ratio

(D) Capital Account of the remaining partne'rs in their new profit sharing
ratio

P.T.0O.
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16.

17.

208/ 1l

(8) 208
A 3 B UERER @ a9 Ao o 4 : 3 81 C & 9EER 1/5 & g 99 8 &

AT A H A I BT, TN A9-BI S 1
(A) 20:8:7 B) 13:15:15
(C) 13:15:7 (D) 15:13:5

A and B are partners sharing profits in the ratio of 4 : 3. They admitted C as a
new partner for 1/5th share which is acquire entirely from A. The new profit
sharing ratio will be :

(A) 20:8:7 B) 13:15:15

() 13:15:7 (D) 15:13:5

& X g WEER 5 : 3 UM 8l F T G & 1/4 AT H T F 7 B & 1/5 AW
H A H H 9 T FA &1 AN AU A : 1
(A) 4:5 (B) 5:4

(C) 12:25 (D) 25:12

A and B are partners sharing in 5 : 3. A surrenders 1/4th of his share and B
surrenders 1/5th of his share in favour of C, a new partner. What is the
sacrificing ratio ?

(A) 4:5 B) 5:4
(C) 12:25 (D) 25:12
T -9
PART - B
(T @ o i oot @ )
(Company Accounts & Analysis of Financial Statements)
HI ER SR T T FEH AR Bl © 1
(A) TH HEEEl (B) @EER %A
(C) F= (D) IUGH &l
An artificial person created by Law is called :
(A) Sole Tradership (B) Partnership Firm
(C) Company (D) All of the above



(9) 208

18. WIZdT HUA & BT T .ovvveeennn. 2 1
A 7 (B) 200
(C) 20 (D) iR
Maximum number of members in a Private Company is :
A 7 (B) 200
(C) 20 (D) No limit
19. HH S T Febell © - 1
(A) |HAT 3 (B) @b A
(C) THAT T YEiferhR 3 (D) I § q HE

A company may issue :
(A) Equity shares (B) Preference shares

(C) Equity & Preference both shares (D) None of the above

20. I & PA-a1 ‘Sfe T v & 78 famn o ® 7 1
(A) wEeE (W) e B) frifa it
() e T (D) afea i

Which of the following is not shown under the heading 'Share Capital' in a
Balance Sheet ?

(A) Subscribed Capital (B) Issued Capital
(C) Reserve Capital (D) Authorized Capital
21. FF ARFET & ST, A e R g & e afaed 8 7 1
(A) 25% (B) 50%
(C) 90% (D) 100%

208/ 11 P.T.0O.
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23.

24.

208/ 1l

(10) 208
According to Companies Act, minimum subscription has been fixed at ...........
of the issued amount.
(A) 25% B) 50%
(C) 90% (D) 100%

S 1 i geg @ ® Al 7 10 U A ® 30% SifEEH W S e S ? 1
(A) %10 (B) ¥ 13
(C) %3 (D) % 40

What will be the issue price of the share if a share of ¥ 10 is issued at 30%
premium ?

(A) 10 (B) % 13

C) T3 (D) % 40

STET I B AT - 1
(A) Tt H S o R

(B) i Toit # wger fwm sl 3
(C) &y e & Re® st &

(D) @HT 9 &y 9a § R S 8
Amount of Calls in Arrears is :

(A) Added to Capital

(B) Deducted from Share Capital
(C) Shown on the assets side

(D) Shown on the Equity & Liabilities side

FOOHIR T YA § 1
(A) I (B) &
(C) e R =T (D) 9
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Debenture holder receives :

(A) Dividend (B) Interest
(C) Both Dividend and Interest (D) Bonus
25. FOCHER H ARHR ST A E 1

(A) HA & BN R

(B) G SHerenRaAt # fras

(C) & H ST & Y

(D) H & SR FIT

Debentures represent the :

(A) Long term borrowings of a company
(B) The investment of Equity Shareholders
(C) Director's share in a Company

(D) Short term borrowings of a Company

26. FOEAIR H AHER © 1
(A) T (B) @™ F W @
(C) F H dqre @ (D) & & 9 I &
A debenture holder is entitled to :
(A) Fixed Dividend (B) Share in Profits
(C) Voting rights in the Company (D) Interest at the fixed rate
27. FOOH AT @M B TP © 1
(A) drdE S (B) SR &I
(C) =R e (D) ST H | Hig TE

208/ 11 P.T.0O.
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29.

30.

208/ 1l
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Debenture Application Account is in the nature of :

(A) Real Account (B) Personal Account

(C) Nominal Account (D) None of the above

RO & e SYfd & $9 § A W, HF-81 G HisT B § 7 1
(A) RO T (B) % °T @

(C) =RUG=ERI @ (D) =RUT9S T el

On issue of debentures as a collateral security, which account is credited ?

(A) Debenture Account (B) Bank Loan Account

(C) Debentures Holder Account (D) Debenture Suspense Account
SEBI & FRATAR ..oooeennnnn. TN & STER B A B RO e FEE F eEiaRd
foran e B 1
(A) 50% B) 80%

(C) 25% (D) 100%

As per SEBI guidelines an amount equal to ................. of the debenture issue
must be transferred to Debenture Redemption Reserve before redemption
begins.

(A) 50% B) 80%

(C) 25% (D) 100%

RO & SNET & AW BN hE @A H SEAGRT [har S 8 7 1
(A) Ui e @ (B) HMMI H9Y Gl

(C) FifeT Bve @ (D) @B freRer

Profit on redemption of debentures is transferred to which account ?

(A) Capital Reserve Account (B) General Reserve Account

(C) Sinking Fund Account (D) Statement of Profit and Loss



31.

32.

33.

208/ 11
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T -9
PART - C
(Tt e

(Computerized Accounting)

FYSUP AGIHT IO % Fh & & ° 1
(A) Ready to use Software (B) Customized Software

(C) Tailor Made Software (D) SUUF |l

What are the types of a Computerized Accounting System ?

(A) Ready to use Software (B) Customized Software

(C) Tailor Made Software (D) All of the above

F=T & @ F7gelga i SOl & 1 a9 787 & 7 1
(A) STRp i (B) e fqgaasiaan

(C) 9 SR dAF (D) S § § HE e

What is not an advantage of a Computerized Accounting System ?

(A) High Speed (B) High Reliability

(C) Reduced training cost (D) None of the above

M FYFA AGHT TOMA H AU <16l o1 WG IR a9l 9 & 39 d H-4dl
OTrRll Sl =Ry ? 1
(A) Ready to use Software

(B) Customized Software

(C) Tailor Made Software

(D) el ©F @1 Fa FR, W B AFE GEE B

Ram wants to install a Computerized Accounting System but his budget is low
which software he should opt for :

(A) Ready to use Software
(B) Customized Software
(C) Tailor Made Software

(D) Buy any of above, all cost same

P.T.0O.
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TABA BT o Al U g T ¢ ol YR Adih T b @A H EsTS
Bl 1
(A) T H &R (B) AR

(C) & (D) ST H | Hig TE

The .............. of a vendor is also an important factor to consider while opting

for Computerized Accounting Software.

(A) Level of Profit (B) Honesty

(C) Capability (D) None of the above

DBMS & T 7T ® : 1
(A) Database Markup System (B) Database Management System

(C) Database Management Section (D) 8 d HIg el
Full name of DBMS is :
(A) Database Markup System (B) Database Management System

(C) Database Management Section (D) None of these

STeEd & e 1
(A) ST % A& (B) ST i SR

(C) SreT & 9 7 Ffwd (D) TTH q Hiz Tl

The demerits of database is :

(A) Repetition of data (B) Inconsistency of data

(C) Difficult to get data (D) None of these

I8 1
(A) STeT P dE € (B) ETeT & i &Y

(C) = (D) ST & | HF T

Information is :

(A) Meaningful form of data (B) Textual of data

(C) Data (D) None of the above
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38. UH THgH b O © ¢ 1
(A) ddbslie (B) THgH
(© = (D) (B) @R (C) Afl
Components of Excel workbook are :
(A) Worksheet (B) Workbook
(C) Chart (D) Both (B) & (C)
39. W § T 9 G Fel 9 I © 7 1
(A) sfive I (B) 9 BhH Y HHS
(€) T ) (D) HNH SR

Where the values and formulae are typed in window in Excel ?

(A) Title Bar (B) Short screen menu command
(C) Formula Bar (D) Standard Bar
40. ¥ TR & fhed gd Mo 1 Y 1
(A) RPT (B) PMT
(C) PPMT (D) IPMT

Function for calculating principal amount is instalment will be :

(A) RPT (B) PMT
(C) PPMT (D) IPMT
41. S AR A H A AT SIS 1
(A) Cut, Copy Paste in Menu edit (B) Sort, Screen, Menu Command
(C) Standard Toolbar (D) SR qHt

208/ 11 P.T.0O.
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208/ 1l
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Data and formulae are copied through :

(A) Cut, Copy Paste in Menu edit (B) Sort, Screen, Menu Command
(C) Standard Toolbar (D) All of the above
P8 F T Bisfe T M & forw ST H S @ 7 1

(A) HIZHETE g8 (B) WIEhIEITE HASTTH
(C) HEhiEe g (D) HIhHIETE T

A computer program that is used to create an electronic spreadsheet is :

(A) Microsoft Word (B) Microsoft Outlook

(C) Microsoft Access (D) Microsoft Excel

TAd G B SART B W HH-91 ERROR R@mm S & 7 1
(A) NAME (B) VALUE

(C) REF (D) NULL

This error is displayed when you enter a wrong name for the formula :

(A) NAME (B) VALUE

(C) REF (D) NULL

T I SN 6 ST A MO B % fore vl Sl 8, FEen © 1
(A) Formula (B) Function

(C) Operation (D) Information

Any equation used to perform a calculation entered in a cell is called a :
(A) Formula (B) Function

(C) Operation (D) Information




